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Q1. 7899x999 &1 A T
Find the value of 7899x999
A.7891101

B.789000
C.789100
D.78001

Q2. 36.0052 H farat wrefes Ty § 2
How many significant figures are there in 36.0052 ?
A2
B.4
C.6
D.7

Q3. 2.73569+0.005415 T LTSS HIH BN
What will be the standard form of 2.73569+0.005415
A. 2735.69+5415
B. 2.73569:5.415
C. 2735.69+541.5
D. 27.3569+5415.0

Q4. 102.5+10.002 TP TRHAT 3P db Y&

fyepTe

Find the value of 102.5+10.002 correct to one place of decimal
A. 100.3
B. 13.0
C. 10.3
D. 120.1



Q5. 256.5+225 1 U A 1 GRHAT RIT dd GHTT:-
The value of 256.5+225 correct to 1 decimal place will be:-
A 11
B. 1.1
C. 1
D. .11

Q6. Tl 18: x=x:8?ﬁxW@Tﬂ:
If 18: x=x:8, then x is equal to:
A. 144
B. 72
C. 26
D. 12

Q7.forda T7g T 5%ae YR 1S HI & F 850 ST BT U 93590 BT SITET?
In what time will be Rs 850 amount to Rs 935 @5% pa simple interest.?
A. 3years3 ¥

4 years 4 ¥
2 years 2 ¥
6 years| 6 ¥

OO0 w

Q8. TH T & 120 B! H 40 Bl 1 7TTIUIH 31R U BT IFU o
In a class of 120 students 40 faile the ratio of pass and fail is:

2:1

3:3

1.2

3:2

oo w>

Q9. TH HATURT 3T a¥g 75 B0 B AN G o SRIaR UfI=Td IR S9dl § off ANTd G T 82
A merchant sells his goods for Rs 75 at a profit percent equal to cost price. The
cost price is:
A. Rs 40
B. Rs 50
C. Rs 60
D. Rs70

Q10. 12000 YT &1 UYL 14000 FUT 811 H 5% Tfaay &t = T fora1 999 m2afe
TS IS JSaT B

How long will Rs 12000 take to amount to Rs 14000 @5% pa compounded
quarterly.

A. 3years



B. 3.1 years
C. 3.5years
D. 12.4 years

Q11. fHa ¥ W 5% Thdfs AEDH! &R 4 2 94 & Thqfs S SR AR A1 B
3feR 15 ¥ G2
On what sum the difference between compound and simple interest on two

years will be rs.15?The rate of interest being 5%.

Rs 6000

Rs 12000

Rs 3000

Rs 5000

Q12. AEfiRad oI a=mad # gahe B
Express the following in decimal 7 weeks 6 days 23 hours
A. 7.994 weeks
B. 8weeks
C. 7.78 weeks
D. 7 weeks

Q13. 6 fhaHieR = HdHex
6 kilometer= centimetre
6000 cm
60000cm
600000 cm
600 cm

oow»

DOow»

Q14. 72.9 Ttex & yor & g R U &1 SrguTd 7:2 B Iffreor § farae iR Tt
fireran s o g SIR Ut &1 SrguTd 7:3 81 9
72.9 litre of‘a mixture contains milk and water in the ratio of 7:2.How much
water must be added to this mixture so that the ratio of the milk and water
may be 7:3?
8.1 litre
7 litre
8 litre
9 litre

Cow>

Q15. 1500 HIR B SS H X, Y B 100 MR AR a1 g1y, Z BT 120 HIeR F A a3 IX, Z
& fora g1 82
In a 1500 metre race X beats Y by 100 metre.Y beats Z by 120 metre.By how
much X beats Z?
A. 213
B. 311



C. 212
D. 120

Q16. Tf¢ A:B= 7:9 3R B:C= 4:5 &l dl A:B:C T1d B3
If A:B =7:9 and B:C=4:5,then find A:B:C
28:30:40

28:20:45

28:36:45

36:45:28

oo w>

Q 17 % FHREUE H x &1 4 &1 T2
What is the value of x in the following proportion
4:9::12:x

32

45

32

27

ocow»

Q18. TS 10 kg TS BT Yed 80 FUAT g Al 16.5kg BT HIAd gHIT?
If the price of 10 kg of onion is Rs 80 then find the price of 16.5 kg.of onion.
Rs 13.2
Rs 128
Rs 1320
Rs 132

oo w>

Q19. 0.025 HT HfAd &R 3
0.025 in terms of rate percentis
25%
2.5%
0.25%
22 %

oow>

Q20. N =

Interest=
I=PRT/100
I=100/PRT
I=A+P

None of these '&':Iﬁ I ?ﬁ'sc :ﬁﬂ

Q21 10% B! & U 550 TTAT WX GaTel! fapTed
Calculate brokerage on Rs 550 @10%
A. Rs 275
B. Rs 55

g o mp



C. Rsb5.5
D. Rs 550

Q22. U7 1605 R 5% P &3 F dg1 HAdbTed
Calculate discount on Rs 1605 @5%
Rs 80.20
Rs 80.35
Rs 70
Rs 80.25

oo w>

Q23. T TBSRER 7500 TUAT °CTd HHHIR FET 20% TUT 15% WR faeht & forg yRarfad gid
& RfSpoReR 1 faeha Hed ST

A refrigerator is offers for sale at Rs 7500 less success ice discount of 20%
and 15% .The sale price of the refrigerator is
A. Rs 5000
B. Rs 4875
C. Rs 5775
D. Rs 5100

Q24. 90 fheliHier e Bt A1 oI Hier Ufd Ydbs | o B |
Express the speed of 90 km per hour into metre per second
A. 25m/s
B. 30 m/s
C. 900 m/s
D. 9000 m/s

Q25. 0.216 SRR &
0.216 is equal to
A. 21.6%
B. .216%
C. 2.216%
D. .2216 %

Q26. 14.50 Ufd Hiex &1 &R ¥ 237 Hiex HUS & I 8
The price of 237 metres of cloths @14.5 per metre will be
Rs 343.65
Rs 3436.5
Rs 3500
Rs 3436

OO

Q27 8421625 P! AT & WlADHC Had D
Express 8421625 nearest to lakh
A. Rs 850 lakh. 850 ¢l %



B. Rs 85Ilakh. 85dRd ¥
C. Rs 84 lakh. 84 did ¥
D. Rs 9 lakh. 9 g ¥

Q28. frit ag ! for e TR a1 oIl & 34 PEd &
The price at which an item is sold called
A. Y HY Cost price
B. Gﬁav_cf&??[ list price
c. fawa Hel sale price
D. dINR Hed market price

Q29. P19 § B &1 TE 87
Which of the following is correct?

A. TY=hT Jed-faehd g
Profit= cost price- sale price

B. €Y= g G+ [dshd e
Profit= cost price+ sale price

C. W= fashd ged-opd g™
Profit= sale price- cost price

D. ﬁﬁ@ﬂﬁ%ﬂ'ﬁ‘TNone of these
Q30. TfE AT T FUAT 400 AT fIshT T 520 § o A4 1 Ufa=rd &

If the cost price is rs 400 and selling price is rs 520 then the percentage of
profit will be

40%

10%

30%

25%

Q31. I TUT T sl B & ATIGR & | 3! Goit ShHRT: 200000 0 Td 600000 TG
& | 31 Yot &1 3fard 81T

Ram and shyam are partner in a firm. Theircapitals are Rs 200000 and Rs
600000 respectively. The ratio of their capital will be

4:3

5:10

7:5

1:3

Q32. frelt HIR & aTftfes foman Suan 275 8 < 45 e &1 FHMIa b= sang
The annual rent of a room is Rs 275 find the proportional rent of 45 days.

A. 33.90

B. 44.20

oo w>

o0 w>



Q33. Fgfafad srurdl & o9 1 Ia1 8t § i1 4:5
Which one of the following ratio is the same as 4:5
A. 10:15
B. 12:15
C. 15:12
D. 15:20

Q34. T WY 2:3 F 3ATd H § 3R I I BT 3R 320 g 1TSATY T 82

Two numbers are in the ratio 2:3 and the difference of the square is 320 the numbers are
1218

16 24

14 21

. ‘s’:n?r q Tﬁé :TE?[ none of these

oowp

Q35 65.30924 B GRAN & & R b G g |
Write 65.30924 correct to two places of decimal

65.30

65.309

65.31

65.3092

oo w>

Q36. T A F9d § WId T TAH HIE YT 50 STHT Bl § FSRIIR gAaH VY W 6% T bl
&R Y YR 7S] T § 10 a8 & ofd & g Jamg

A person pays rupees 50 monthly into a saving bank account carrying simple interest @ 6% per
annum find the amount of the end of the year

Rs 618

Rs 700

Rs 200

Rs 900

o0 >

Q373 6 37 4 B P SRIR & 3R 6 I 12 Tk P SRISR 8 dl 30 37T fFa- Tk & SRR g

If 6 mango is equal to 4 Apple,6 apples equal to 12 oranges then 30 mangoes equal to oranges
A. 40

B.. 30

C. 20

D. 15

Q38. freft a¥g B 20% B TR 60 FUTT A S T4 I HT HT Y g7 I

An article was sold for rs 60 at 20% loss.its purchase price would have been
A. Rs 65



B. Rs70
C. Rs75
D. Rs 80

Q 39.97o! AT ebTY T ¢ B Bl Sl B
Payment made with interest is called
Principal HclY-d
Amount %A
Capital. QIrﬁ

Costl dNId

oo w>

Q40. fpg dTferepT 7 1 | 9 deb a3l &1 BiAd 1 g2 Wl ©
In which table value of things is given from 1 to 9

A. Table of nine values Taua dTfereRT

B. Periodic table 3fad JRuft

C. time table. Ty gl

D. None of these. 'ar:rff q ?ﬁé :ﬁﬂ

The end



